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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Trend plot forP3-4 0
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P3-4

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R
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11:55 234 150.0 5| TiHfe11:55 RHEF (REAERSE)
12:50 234 150.0 5| THR012:50 KRENFERF (RF1RELEE
13:45 234 150.0 | FHAe13:45 KHEF (KAERESE)
15:05 234 150.0 5| TiHHe15:05 REFEF (REAERSE)
21t 2106.0 (97%) 1350.0 3203 KEC: 2080.0, PH: 6.5

unusual large postFgEt from yesterday (499), set to 450.0 ml.
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P3-4

BrE) | GEBAK @) | ERE(EAH/K (XS R

07:10 210 150.0 5| {Ri%e07:10 Fzh (FAMERSE)
08:05 210 150.0 5| 1Ri&e08:05 F iz (KREAEESR)
09:00 210 150.0 = {RRiB009:00 Fzh (RAKEE)
09:50 210 150. 0 5| {Ri%@09:50 F 3 (FAMERSE)
10:40 210 150.0 = {Rig010:40 F31 (RAERSE)
11:30 210 150.0 El BRige11:30 Fzh CGRAEREE)
12:45 210 150. 0 5| 1Ri%e12:45 F5 GREAMEREE)
13:45 210 150.0 F BRige13:45 Fz1 CGRAERESE)
14:45 210 150.0 = RRiB014:45 Fz (REAKEEE)
16:05 210 150.0 5| {Ri%e16:05 F3h (RAERSE)
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unusual large postFgEt from yesterday (456), set to 450.0 ml.
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13:35 210 150.0 = RRi8013:35 Fzh (REAEESE)
14:45 210 150.0 = {Ri%e14:45 F3 (RAERSE)
16:35 210 150.0 & =| 1Ri%e16:35 Fz (KRAEREE)
21+ 1890.0 (9)%) 1350.0 3203 KEC: 2080.0, PH: 6.5
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